C:# Dividing Whole Numbers

Name:
Solve each problem. Answers
1) 80=2= 2) 31+3=
- 1.
2
3
3 261+5= 4) 40:2= 4
5.
6.
7.
5 308+7 = 6) 50+6 =
8.
0.
10.
7) 842+4= 8 52+2=
- - 11.
12.
9 345:5 = 10) 132+3=
11) 967+5= 12) 27+2=
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Dividing Whole Numbers

Name:

Answer Key

Solve each problem.

1) 80:2= 40

3 261+5= 52r1

5 308:7= 44

7) 842+4= 21012

9 345+5= 69
11) 967+5= 19312

2)

4)

6)

8)

10)

12)

31+3=_ 1011
40:2=_ 20
50+6=_ 812
52:2=_ 26
132+3=__ 44
27+2=_1311

Answers
1 40
2. 10r1
3 92rl
4 20
5 44
6. 8r2
7. 21012
8 26
9 69
10, L4
1. 193r2
12 13r1
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